RKEKUFLRET—S [20224£10A) Ak

BIERA  XEFH&R AIFEEE: ZBRIEER B {57 : ppb

BNEE | 185 | 2Bk | an% | 4B | o% | oB% | 78% | oB% | omk | 10B% | (1B | 128 | 1385 | 1485 | 1585 | 1685 | 1785 | 108 | 108k | 208k | 21m | 208k | 23mk | 4Bk | k| EXE| &/ME| TE] & §
1B(L) 7 7| 10f 11 8 9] 11| 10 7 6 5 5 4 5 7 6 3 3 71 10| 11 7 5 5 24 1 3 7 169
28(H) 5 5 5 5 5 6 6 6 5 3 3 2 2 2 2 2 4 4 7 8 8 7 6 5 24 8 2 5 113
3EA) 5 4 4 6 6| 11| 13| 14 8 5 4 3 4 6] —| 10 8 7 4 4 4 7 9 8 23 14 3 7 154
48(K) 4 3 5 5 4 6 10 5 7 7 15 11 6 4 5 6 7 9 9 5 7 6 9 8 24 15 3 7 163
58 (K) 5 4 2 2 2 3 2 3 4 3 3 3 3 3 3 3 3 3 4 4 4 3 5 6 24 6 2 3 80
6 H(K) 5 — 6 6 7 11 9 8 8 7 8 7 4 3 3 4 5 12 15 11 11 12 7 6 23 15 3 8 175
7H(®) 10| 15| 14 6 4 5/ 11| 15| 12| 14 12 8l 1 8 8| 12| 13| 18| 19| 20| 18 21 22| 19 24 22 4 13 315
8H(L) 5 4 5 5 5 5 8 9 7 4 3 4 3 2 1 1 1 2 4 5 6 5 6 5 24 9 1 4 105
9E8(R) 4 4 5 5 4 5 5 6 5 6 5 5 5 4 7 8 6 5 4 7 5 2 1 1 24 8 1 5 114
108(A) 1 3 4 4 2 2 5 7 5 9 12 12 13 9 9 8 8 8 9 10 10 9 7 4 24 13 1 7 170
1MBEC 4 3 5 6 9 15 15 16 5 5 4 3 3 3 2 2 4 4 5 4 4 4 4 7 24 16 2 6 136
1280K) 8 8 6 8 9 13 10 18 21 20 15 16 12 6 6 8 10 11 12 11 11 11 7 8 24 21 6 11 265
13BCK) 13 — 10 7 6 9 11 10 5 4 4 5 5 4 3 3 4 5 8 12 10 7 4 5 23 13 3 7 154
148(%) 6 8 7 6 7 9 9 8 9 5 4 4 5 4 4 4 6 8 7 8 8 8 6 7 24 9 4 7 157
158(%) 6 7 7 8 9 9 7 9 7 6 4 5 3 3 2 2 2 5 4 5 5 6 5 4 24 9 2 5 130
16H(BH) 5 5 4 4 4 4 5 5 5 4 5 3 2 2 2 2 3 2 2 3 3 4 4 5 24 5 2 4 87
178(8) 4 5 3 4 5 6 5 10 16 17 15 15 19 19 17 6 10 14 11 7 7 7 7 8 24 19 3 10 237
188 (N) 7 6 8 10 7 6 8 4 4 3 3 2 2 2 2 3 3 4 — 3 4 6 9 9 23 10 2 5 115
198 (7K) 7 7 7 8 9 11 10 11 10 4 3 5 5 3 2 2 2 3 6 7 9 18 16 11 24 18 2 7 176
20B(K) 7 - 6 7 9 11 14 18 17 11 4 3 3 4 4 3 3 6 13 10 14 10 10 9 23 18 3 9 196
218(%) 9 10 11 10 10 12 16 17 13 6 9 13 11 8 5 5 7 11 15 15 12 12 11 — 23 17 5 11 248
22H(%) - - 11 18 11 12 15 14 11 10 9 8 11 8 5 6 6 7 12 10 12 15 15 16 22 18 5 11 242
23H(H) 18 17 13 12 12 10 9 8 7 5 3 2 2 2 2 2 2 3 4 6 4 3 3 24 18 2 6 151
248(8) 3 2 2 1 2 2 4 6 7 4 3 3 2 2 4 4 4 4 4 6 9 9 8 24 9 1 4 102
258(K) 5 5 3 4 2 3 13 13 7 5 5 5 3 3 2 2 3 4 5 5 13 14 13 11 24 14 2 6 148
26 H(K) 9 7 8 9 10 11 15 18 14 15 9 7 5 4 3 2 3 5 6 11 12 14 10 8 24 18 2 9 215
278(XK) 9 — 11 12 8 11 11 11 15 11 10 12 13 12 8 7 12 17 15 16 22 23 22 17 23 23 7 13 305
28H(%) 13 10 12 15 14 13 12 14 13 - - 4 3 3 3 1 2 4 4 4 9 15 9 22 15 1 8 182
29H(L) 8 6 7 7 8 8 8 13 6 4 2 1 1 1 1 2 3 3 3 3 3 4 6 7 24 13 1 5 115
308(H) 4 5 5 4 5 6 5 g —| —-| -] - - - 1 1 2 2 7| 10 9 8 9 7 18 10 1 5 98
318A) 7 70 1) 11l 12 15 14] 17] 15 6 7 8 8 3 4 4 4 6 7 5 4 2 2 24 17 2 3 181
I 30 26 31 31 31 31 31 31 30 29 29 30 30 30 30 31 31 31 30 31 31 31 31 30 727

SAlE 18] 17] 14| 18] 14| 15| 16| 18] 21| 20 15| 16| 19] 19 171 12| 13| 18] 19 20| 22 23| 22| 19 23 13

=/ME 1 2 2 1 2 2 2 3 4 3 2 1 1 1 1 1 1 2 2 3 3 2 1 1 1 3

SEY{E 7 6 7 7 7 8 10| 11 9 7 6 6 6 5 4 4 5 6 8 8 9 9 8 7 7

& &t 203 167 217 226 215] 259 296/ 331 275 209 188 184] 173 142 127 131 153 199] 232| 245 268 279 257 222 5198
XAERIEBK 308 3 1BF B AY200ppb (0.2ppm) B Z 1= B $ (BIS) OR%FE (0.0%)

GBI E R 2K 727R RS 3¢ 1B RS A% 100ppb (0.1ppm) LA 200ppb (0.2ppm) LA O BERSI 4k (21 4&) OR%FRE (0.0%)

XEMBFHEDOZSE 13(opb)

XERDOETRBETHY. SREFSIEENHYET.

X 1BFFEE D 1 B S 19{EHY60ppb (0.06ppm) B2 1= B H (B &)

XABREfED 1 B F9{EH%40ppb (0.04ppm) L1 L 60ppb (0.06ppm) LI TF D Bk (B|&)

08 (0.0%)
08 (0.0%)




RKEKUFLRET—S [20224£10A) Ak

BIERA  XEFH&R BIEEB FHEANTFRYME BRI pg/m3

BINEF | 1BF | 2RF | SBF | ARF | 5BF | 6BF | 7RF | OBF | OFF | 10BF | 118F | 126% | 138F | 1465 | 158F 178 19/F | 208 | 2185 | 228% | 238% /Ml =
18(L) 10 10 ol 10| 10| 10| 10 4 10] 14| 13| 10 3| 16| 27| 12 7 2 1 13 9 12 0 10 228
28(H) of 16 71 13 8| 18 9| 16| 12| 17 6| 17| 1 10 2| 10 7 10| 15 9 16| 11 0 11 264
3B(A) 16| 14| 10| 16| 15| 14| 16| 15 8| 11 16 9 2 7 4 6| 13 18 8l 13 6| 17 2 12 283
4B(K) 6 9| 13| 18 9 8| 10| 18] 14 ol 14| 10 5 3 11 3 18 40 1 14 13| 12 0 10 229
58(K) 11 11 0 0 1 1 4 12 0 0 3 2 10 0 5 8| 15 9 7 0 3 1 0 4 107
68 (K) 4 0 0 4 0 0 0 2 6 1 1 0 0 1 2 1 1 3 0 2 0 6 0 2 45
78(#) 6 71 10 8 2 2 0 5 3 0 0 0 0 3 0 0 2 4 5 8 10 4 0 4 84
8H(L) 0 0 2 7 0 0 6 8 0 6 2 7 2 8 3 ol 10 0 2 0 3 4 0 4 87
98(H) 8 0 2 5 9 8 7 4 4 2 4 7 6 7 7 5 10 9 7 1 0 3 0 5 118
10B(A) 0 0 5 3 0 3 0 1 0 1 5 4 7 0 8 0 6 8l 10 8 7 3 0 4 94
1TACK) 2 3 2 4 3 0 5 8 0 7 2 2 0 4 1 6 6 0 0 6 9 9 0 4 88
1280K) 3 7 4 3 5 5 4 2| 13 4l 11 6 4 8l 10 4 8 10 of 12 12 9 0 7 165
138 (K) 6| 14| 13| 15| 12 5 4 10 0 9 10 1 6 2 2 0 4 3l 17 0 9 6 0 7 172
148(#&)| 13 7| 14 11 8 9 4 2| 14 5 3 0 7 5 7 0 8 6 9] 11 2 8 0 7 177
158(%) 51 21 7 4 7 0 8 4 6| 13| 10 6 5 1 7 5 4 8 7 5 1 9 0 7 167
168(R) 9 1 0 8 71 12 8 6| 11 3 18] 12| 10| 11 71 17| 23 12| 17 6 8 10 0 10 228
178(R) 8 0 8| 14| 20| 18 6| 13| 12| 18| 22| 19| 22| 12| 22| 14| 11 8 8l 10 10| 10 0 13 320
188 ()| 17| 10| 18 9| 13| 12| 12 8| 14| 15 6 1 6 5 2 0 4 - 0 7 2 6 0 8 173
198K 10 0 2 6 3 o 11 0 7 0 0 1 0 0 4 0 0 3 0 5 8 8 0 0 3 68
20H(K) 5 0 9 2 1 5 8| 10 8 0 0 0 2 6 0 5 8 0 6 2 4 0 5 0 4 90
218(£) 2 6 2 6 6 7 3| 12 4 12 of 14 4 6 8 5 2 71 15 ol 10 3 13 0 6 147
28| —| 14 6| 17| 17 7 9| 13 1 10 8| 18 71 10 1 3 5 14 71 14 15 9 4 1 10 232
238(A)| 12 71 12| 17] 21 15| 24| 20| 21 16 5 3 4 10| 22| 16| 16 1| 22| 14 8 0 0 0 13 312
24H(R) 5 3 0 0 5 11 3 0 7 0 0 0 2 5 0 5 4 0 2 5 3 6 5 0 3 83
25H(K) 0 0 1 0 7 1 0 0 0 0 3 0 3 2 2 4 0 0 0 0 0 0 0 0 1 29
26 H(K) 0 0 9 5 6 5 2| 10 2 3 0 5 2 0 0 0 0 3 0 0 2 2 0 0 2 56
27R(K) 3 11 5 o 11 10 8 6 6 4 6 5 14 2 1 of 19 15 71 16 18] 21 7 0 9 225
28R(&)| 18| 18 5 6 7 6 4 9l 13| —| - - 8 0 2 8l 10 0 6 4 7 6 1 0 7 138
29H(%) 1 14 2| 10 0 3 7 5 10 4 0 0 7 6 0 0 3 4 0 2 3l 12| 12 0 5 110
308(H) 51 14 0 6 1 10 4 16 — 2 6 0 8 0 0 0 7 2 0 5 81
31H(A) 2 5 2 1 0 0 4 2 0 8 5 9 2 5 8 6 7 4 0 7 5 7 0 4 99
Bk 30l 31] 31| 31| 31| 31| 31| 31| 30 29| 29| 29| 30 30/ 31| 31 31 30 31| 31 31 31| 30

BAE 18] 21 18] 18] 21 18] 24| 20[ 21 18] 22| 19| 22| 16| 271 17| 23 18] 22| 16 18] 21 18

x/ME 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

TEHE 6 7 5 7 7 7 6 8 7 6 6 6 5 5 6 5 7 6 6 7 6 7 6

& 5t | 187] 222] 170[ 228| 214 205| 200 241| 216] 183 173| 168 161| 155 177 231 194 175 209| 192 221 4699
XAERIEBK 30H 3¢ 1B FE B AY200 1 g/m3 (0.20mg/m3) ZHB % 1= B FE1 4k (B &)

3R TE B FE1 8K 73185R4 1BREE D 1 B F9{EAY00 1 g/m3(0.10mg/m3) ZHBZ = B #k (B A&)

XEMBTEHEORSE 13(1g/m3)

X ERDEITEBETHY . SEERTIHEENHYET.




